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Column Subtraction Puzzle A @W@
What can you find in the middle of Derby that you cannot find at all in Sheffield or

Nottingham?

Complete the column subtraction sums to find the answer. The two digits underlined in red
give a letter. Where the two digits are not next to each other, the left hand digit is the first digit.

A B C D E F G H I J K L M

19 34 28 76 50 92 87 15 63 40 14 36 29

N ) P Q R S T U \Y W X Y Z

08 72 05 41 57 61 83 98 01 49 27 66 58

52 60 2 3 8 2 3 7 7 59 2 8
3 6 6 4 /7 3 8 2 9 4 8 4 2 8 4 6
8 4 3 7 7 4 6 7 N 9 8 2 6 F 8 3 4 8 |
3 3 2 8 2 3 8 4 5 7 2 1 81 4
5109 5 0 8 3 9 2 5 4 6 5 3 4
9 4 2 3 8 58 2 D 9 218 T 6 1 7 3 H
2 3 6 5 1 2 1 8 7 9 5 1 3 5 8
/7 05 8 /7 3 6 4 8 4 2 3 4 8 1 5
6 4 3 1 8 342 L 9 153 E /7 3 01
1 9 2 5 4 8 1 6 39 2 3 301 8
4 5 0 6 3526 52 30 4 2 8 3
7 159 T 8 317 E 8 000 R 2 41 8
53 21 3 7 7 7 2 2 5 7 4 6 1
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Column Subtraction Puzzle AA @W@
What can you find in the middle of Derby that you cannot find at all in Sheffield or

Nottingham?

Complete the column subtraction sums to find the answer. The two digits underlined in red
give a letter. Where the two digits are not next to each other, the left hand digit is the first digit.

A B C D E F G H I J K L M
19 34 28 76 50 92 87 15 63 40 14 36 29

N ) P Q R S T U \Y W X Y Z

08 72 05 41 57 61 83 98 01 49 27 66 58

8 1 2 3 vy 9 00 0 o 9 4 6 1 8 00 1 ¢
4 4 5 9 1 4 1 8 2 7 7 5 155
36 6 4 75 8 2 9 1 8 4 2 8 4 6
8 1 3 6 A 7 2 3 8 N 9 8 2 6 F 8 g 2 8 |
55 9 7 2 15§ 58 7 2 2 09 4
2 539 5 0 8 3 3 95 4 6 5 3 4
9 1 2 7 N 8 6 8 2 D 9 06 4 T 7 0 7 3 H
5 06 9 7 3 1 8 6 3 5 2 15 8
4 0 5 8 1 3 6 4 8 4 2 9 4 9 1 5
7 5 3 3 E 8 3 4 2 L 8 1 03 E 5 303 T
1 9 05 4 8 1 6 3526 3 8 6 8
56 2 8 352 6 4 5 7 7 1 4 3 5
7 8 35 T 8 00 o E 8 s 00 R 6 5 2 8
3 371 35 7 7 2 2 5 7 5 7 1
4 4 6 4 4 4 2 3 6 2 4 3 19 57
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